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QUESTION 1

Which of the following is NOT a component of the CMM virtual network function?
A. Load Balancer (LB)

B. Packet Processing Service (PAPS)

C. Network Element Cluster Controller (NECC)

D. Database Service (DBS)

Correct Answer: A

QUESTION 2

Which of the following is a function of an SPS Diameter IOH VM?
A. Provides logs and alarms to management

B. Terminates signaling connections to the network

C. Terminates HTTP and LDAP connections

D. Manages configuration of other VMs in the VNF

Correct Answer: B

QUESTION 3

Which of the following lifecycle management operations is NOT supported by the CMG?
A. Scaling of OAM-VM

B. Scaling of MG-VM in LB mode

C. Scaling of LB-VM in LB mode

D. Healing of OAM-VM, MG-VM and LB-VM

Correct Answer: A

QUESTION 4
Which of the following is a function of CMG LB-VM?
A. Generates periodic KPI/KCI XML reports

B. Terminates external control plane logical interfaces
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C. Performs policy and charging enforcement function
D. Provides management interfaces to NSP

Correct Answer: C

QUESTION 5

Which of the following statements about interface redundancy with OVS is FALSE?
A. OVS provides redundancy through a Linux bonded interface on the hypervisor.
B. Guest VMs have two virtual NICs connected to OVS through a Linux bridge.

C. Ethernet frames are sent between the redundant interfaces to verify connectivity.
D. OVS connects to two physical ports connected to distinct leaf switches.

Correct Answer: C

QUESTION 6

Which of the following statements regarding CMM internal network is FALSE?
A. Itis a layer 2 network.

B. It is connected to all CMM VMs.

C. It is used for communication between CMM VMs.

D. It requires a customer provided subnet address.

Correct Answer: D

QUESTION 7

Which of the following is NOT a capability of Open vSwitch?
A. VLAN, VXLAN and GRE encapsulation

B. Layer 3 forwarding

C. Quality of Service

D. Direct pass-through from VM to the NIC

Correct Answer: D

QUESTION 8
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Which of the following is NOT a function of the CMM Network Element Cluster Controller (NECC)?
A. Provides a centralized operation and management unit

B. Provides statistics and log information

C. Terminates 2G logical interfaces

D. Enables monitoring and troubleshooting functionality

Correct Answer: C

QUESTION 9

Which of the following about CMG deployment in LB mode is TRUE?

A. Ingress control plane traffic is received directly from an external gateway to OAM-VM
B. Egress control plane traffic is sent directly from MG-VM to an external gateway

C. Ingress user plane traffic is received directly from an external gateway to LB-VM

D. Egress user plane traffic is sent directly from MG-VM to an external gateway

Correct Answer: B

QUESTION 10

Which of the following is the hypervisor for VMware?
A. vSphere

B. vCenter

C. vCloud Director

D. ESXi

Correct Answer: A

Reference https://www.vmware.com/products/vsphere-hypervisor.html Note: Technically there are two answers to this
guestion. Both vSphere and ESXi are hypervisors for VMware. The only difference is ESXi is a bare-metal enterprise
class hypervisor. However, the question is generic therefore, both AD are correct answers.
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